

Mr. Guy Matula Fort bend County Engineering 301 Jackson St. Richmond, TX 77469 July 07, 2021

Project #'s 2017 Mobility

Invoice #'s 0320064, 0320062, 0320063

Due Date August 21, 2021

PO # 167428 Combined Invoice Total \$5,110.49

### Professional Services Period: May 1, 2021 to May 31, 2021

	Percheron #	FBC Project #	2017 Mobility Project Name	<b>Current Invoice Amount</b>
•	05.004808.0000	17313x	McCrary Road - PO 167428/2017	\$1,380.00
	05.005439.0000	17303	SH 99 - PO 167428/2017	\$2,806.31
	05.000520.0000	17314X	Cinco Ranch TL Road PO 167428/2017	\$924.18
	05.005816.0000	17307	Peek Road PO 167428/2017	\$0.00
	05.006710.0000	17325x	Vanbrooke PO 167428/2017	\$0.00
	05.006831.0000	17320x	Fry Rd Donation PO: 167428/2017	\$0.00
			Tatal O and the above	<b>65 440 40</b>

Total Current Invoice \$5,110.49

Billing Limits	Current	Prior Outstanding Invoices	To Date
Total Billings	\$5,110.49	\$4,268.87	(\$267,622.12)
Total Contract Amount			\$448,245.00°
Remaining Funds Available		-	\$180,622.88

Project	Current Invoice	Prior Outstanding Invoices	Total Invoiced to Date
17313x McCrary	\$1,380.00	\$1,185.00	\$179,942.67
17303 SH 99	\$2,806.31	\$2,388.87	\$49,901.13
17314x CRTL	\$924.18	\$515.00	\$24,743.76
17303 Peek	\$0.00	\$0.00	\$3,540.00
17325x VanBrook	\$0.00	\$180.00	\$9,419.56
17320x Fry	\$0.00	\$0.00	\$75.00
Totals	\$5,110.49	\$4,268.87	\$267,622.12



July 7, 2021

Project No: 05.000520.0000

Invoice No: 0320064

Due Date: August 21, 2021

PO / WO / AFE: 17314x

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$924.18

Project 05.000520.0000 FBC 17314x Cinco Ranch TL

Professional Services from May 1, 2021 to May 31, 2021

**Professional Personnel** 

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	10.0	90.00	900.00	
Total Labor				900.00
Reimbursable Expenses				
Other Expenses			24.18	
Total Reimbursables			24.18	24.18
Billing Limits	Current	Prior	To-Date	
Total Billings	924.18	23,819.58	24,743.76	
Total Contract Amount			32,520.00	
Remaining Funds Available			7,776.24	

Total this Invoice \$924.18

### **Billings to Date**

	Current Invoice	Prior	Invoiced To Date
Labor	900.00	23,265.00	24,165.00
Expense	24.18	554.58	578.76
Totals	924.18	23,819.58	24,743.76

Project 05.000520.0000 FBC 17314x Cinco Ranch TL Invoice 0320064

# PERCHERON INVOICE SUMMARY

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.000520.0000 - FBC 17	314x Cinco	Ranch TL	1000.00	- Project S	ervices   10	0.000 - Pro	ject Manag	gement							
Kaplan, Arlene	10.000	900.00											24.18	24.18	924.18
Total 100.000:	10.000	900.00											24.18	24.18	924.18
Total 1000.00:	10.000	900.00						,					24.18	24.18	924.18
Total 05.000520.0000:	10.000	900.00											24.18	24.18	924.18
Invoice Total:	10.000	900.00											24.18	24.18	924.18

Project 05.000520.0000 FBC 17314x Cinco Ranch TL Invoice 0320064

# PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Kaplan, Arlene																
5/5/2021	2.000	90.00	180.00											24.18	24.18	204.18
Work Detail	Arlene Kap	olan: finish	ed digital loa	ading for d	elivery of pr	oject to FBC	on May 12	!								
5/10/2021	1.500	90.00	135.00													135.00
Work Detail	Arlene Kap	olan: comp	leted CRTL;	then P02	call about a	dditional relo	cation clair	n;								
5/11/2021	1.500	90.00	135.00													135.00
Work Detail	Arlene Kap	olan: P02 s	spomke to Jo	hn Buehle	er and bank	reviewed p	ictures and	placed cal	l to landsca	per						
5/17/2021	2.000	90.00	180.00													180.00
Work Detail			onded to Jol											was donated, F	BC agreed	to additional
5/18/2021	1.000	90.00	90.00	- 10 001.IP												90.00
Work Detail	Arlene Kap	olan: Prepa	ared docume	ents for lan	dscaper to	go forward v	vith quote fo	or P02								
5/26/2021	2.000	90.00	180.00													180.00
Work Detail	Arlene Ka	olan: prepa	ared docs for	bank and	for landsca	per and sen	t out; got do	ocs from ba	ank and wor	king with lar	ndscaper					
Total Kaplan, Arlene:	10.000		900.00											24.18	24.18	924.18
Invoice Total	10.000		900.00											24.18	24.18	924.18



# Order# 9831939298

Order placed: May 03, 2021

# Invoice # 283487053 CHARGED on May 04, 2021

Item(s) Shipped

Item#	Item Description	Price	Quantity	Discounts	Subtotal	
707196	Green Mountain Breakfast Blend Coffee, Keurig® K-Cup® Pods, Light Roast, 24/Box (6520)	\$13.29	1	-\$1.00	\$12.29	
719424	Green Mountain Caramel Vanilla Cream Coffee, Keurig® K-Cup® Pods, Light Roast, 24/Box (6700)	\$13.29	1	\$0.00	\$13.29	
642408	SanDisk Cruzer Glide 32GB USB 2.0 Flash Drive (SDCZ60-032G-A46)	\$12.09	2	\$0.00	\$24.18	
Method o	ing in \$51.75		Š	Subtotal: Discounts: Shipping/Fees: Tax: Total:	\$50.76 -\$1.00 \$0.00 \$1.99	
				iotai.	\$51.75	



July 7, 2021

Project No: 05.004808.0000

Invoice No: 0320062

Due Date: August 21, 2021

PO / WO / AFE: 167428

Guy Matula Fort Bend County 301 Jackson Street Richmond, TX 77469

Invoice Total \$1,380.00

Project 05.004808.0000 Project# 17313X - McCrary Road PO: 167428/2017 Mobility

### Professional Services from May 1, 2021 to May 31, 2021

#### **Professional Personnel**

	Quantity	Rate	Amount	
Project Manager				
Kaplan, Arlene	9.5	90.00	855.00	
ROW Agent Senior				
Cavazos, Jorge	7.0	75.00	525.00	
Total Labor				1,380.00
Billing Limits	Current	Prior	To-Date	
Total Billings	1,380.00	178,562.67	179,942.67	
Total Contract Amount			265,150.00	
Remaining Funds Available			85,207.33	
		Total this	Invoice	\$1,380.00

### **Billings to Date**

	Current Invoice	Prior	Invoiced To Date
Labor	1,380.00	115,905.00	117,285.00
Appraisers	0.00	57,000.00	57,000.00
Expense	0.00	3,857.67	3,857.67
Unit	0.00	1,800.00	1,800.00
Totals	1,380.00	178,562.67	179,942.67

Project 05.004808.0000 FBC - Proj#17313x - McCrary Rd PO167428 Invoice 0320062

## **PERCHERON INVOICE SUMMARY**

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.004808.0000 - FBC -	- Proj#17313	x - McCrary	Rd PO16	7428   0000	.02 - Produ	ction and I	Procureme	nt   100.000	- Project I	/lanageme	nt				
Cavazos, Jorge	7.000	525.00													525.00
Kaplan, Arlene	9.500	855.00													855.00
Total 100.000:	16.500	1,380.00													1,380.00
Total 0000.02:	16.500	1,380.00													1,380.00
Total 05.004808.0000:	16.500	1,380.00													1,380.00
Invoice Total:	16.500	1,380.00					-		-						1,380.00

05.004808.0000

## PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Cavazos, Jorge	e				,		-									
5/7/2021	2.000	75.00	150.00													150.00
Work Detail	Masterwoi	ks Training														
5/10/2021	1.500	75.00	112.50													112.50
Work Detail	Master Wo	orks Trainin	g													
5/11/2021	.500	75.00	37.50													37.50
Work Detail	Master Wo	orks training	ı													
5/12/2021	.500	75.00	37.50													37.50
Work Detail	Master Wo	orks training	ı													
5/13/2021	1.000	75.00	75.00													75.00
Work Detail	Master Wo	orks training	ı													
5/14/2021	.500	75.00	37.50													37.50
Work Detail	Master Wo	orks training	ı													
5/20/2021	.500	75.00	37.50													37.50
Work Detail	Review of	Deeds and	Documents	;												
5/21/2021	.500	75.00	37.50													37.50
Work Detail	Electronic															
Total Cavazos, Jorge:	7.000		525.00												,	525.00
Kaplan, Arlene	,															
5/10/2021	2.000	90.00	180.00													180.00
Work Detail	Arlene Ka	olan: overvi	ew of all pa	rcels in te	am meeting	; inventory o	documents f	or delivery	to FBC							
5/11/2021	1.000	90.00	90.00													90.00
Work Detail	Arlene Ka	olan: workir	g in MW wi	th Sandy	and Jorge											
5/12/2021	3.000	90.00	270.00													270.00
Work Detail	Arlene Ka	olan: MW tr	aining and e	exercises												
5/14/2021	1.500	90.00	135.00													135.00
	Arlene Ka	olan: MW e	xercises													
Work Detail																180.00
Work Detail 5/25/2021	2.000	90.00	180.00													
				to FBC (	thimb drives	and origina	al deeds witl	n title polici	es)							
5/25/2021				to FBC (	thimb drives	and origina	al deeds with	n title polici	es)							855.00



July 7, 2021

Project No: 05.005439.0000

Invoice No: 0320063

Due Date: August 21, 2021

\$2,806.31

Guy Matula

Fort Bend County 301 Jackson Street

Richmond, TX 77469

Invoice Total \$2,806.31

**Total this Invoice** 

Project 05.005439.0000 Project# 17303 - SH 99

<u>Professional Services from May 1, 2021 to May 31, 2021</u>

**Professional Personnel** 

	Quantity	Rate	Amount	
Project Manager Kaplan, Arlene	24.5	90.00	2,205.00	
ROW Agent Senior Cavazos, Jorge	7.5	75.00	562.50	
Total Labor				2,767.50
Reimbursable Expenses				
Postage			38.81	
Total Reimbursables			38.81	38.81
Billing Limits	Current	Prior	To-Date	
Total Billings	2,806.31	47,094.82	49,901.13	
Total Contract Amount			110,100.00	
Remaining Funds Available			60,198.87	

**Billings to Date** 

•	Current Invoice	Prior	Invoiced To Date
Labor	2,767.50	43,950.00	46,717.50
Appraisers	0.00	2,870.00	2,870.00
Expense	38.81	274.82	313.63
Totals	2,806.31	47,094.82	49,901.13

Project 05.005439.0000 FBC - Project# 17303 - SH 99 Invoice 0320063

## **PERCHERON INVOICE SUMMARY**

	QTY	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
05.005439.0000 - FBC - F	Project# 17	303 - SH 99	0000.02	- Producti	on and Prod	curement	100.000 -	Project Mai	nagement						
Kaplan, Arlene	24.500	2,205.00													2,205.00
FedEx												38.81		38.81	38.81
Total 100.000:	24.500	2,205.00										38.81		38.81	2,243.81
05.005439.0000 - FBC - F	Project# 17	303 - SH 99	0000.02	- Producti	on and Prod	curement	150.000 -	Acquisition	S						
Cavazos, Jorge	7.500	562.50													562.50
Total 150.000:	7.500	562.50													562.50
Total 0000.02:	32.000	2,767.50										38.81		38.81	2,806.31
Total 05.005439.0000:	32.000	2,767.50										38.81		38.81	2,806.31
Invoice Total:	32.000	2,767.50										38.81		38.81	2,806.31

05.005439.0000

# PERCHERON INVOICE DETAIL

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
Cavazos, Jorge	)				rutoj											
5/3/2021	1.500	75.00	112.50													112.
Work Detail	Working o	n tree and	shrub value	s per parce	el for all par	cels from Cir	nco Ranch	Boulevard	to Westhein	ner Road.						
5/4/2021	.500	75.00	37.50													37.
Work Detail	Working o	n tree and	shrub value	s per parce	el for all par	cels from Cir	nco Ranch	Boulevard	to Westhein	ner Road.						
5/11/2021	1.000	75.00	75.00													 75.0
Work Detail	P207 - Ap	praisal Rep	ort Updates	3												
5/12/2021	1.000	75.00	75.00													75.0
Work Detail	Team Mee	eting														
5/17/2021	1.000	75.00	75.00													75.
Work Detail	P204 - Do	cument Pre	eparation for	r Donation	Deed and 0	Communicati	on with Pro	perty Own	er.							
5/19/2021	.500	75.00	37.50													37.
Work Detail	P204 - Re	port Updat	e and Next S	Steps for D	Oonation De	ed and Title	Company.									
5/24/2021	.500	75.00	37.50													37.5
Work Detail	Team Mee	eting														
5/26/2021	1.000	75.00	75.00													75.0
Work Detail	Save upda	ated Title C	ommitments	s in drive a	ind rename	the same for	P208-214	and 216								
5/27/2021	.500	75.00	37.50													37.5
Work Detail	P204 - Up	date conta	ct report and	d communi	icate with Ti	tle Company	regarding	check.								
Total Cavazos,	7.500		562.50													562.
Jorge:																
Kaplan, Arlene																
5/3/2021	2.000	90.00	180.00													180.0
Work Detail	Arlene Ka	plan:Prepa	ring for mee	ting with S	Sarah Gerde	s for CLMA	with apprai	sal and irrig	ation and p	arcel accou	ınting. 					
5/4/2021	2.000	90.00	180.00													180.0
Work Detail	Arlene Ka		oleted prepa	ration for r	meeting with	CLMA										
5/7/2021	2.000	90.00	180.00													180.0
Work Detail			erworks trair	ning												
5/10/2021	1.000		90.00													90.0
Work Detail		plan: Maste														
5/12/2021	2.000	90.00	180.00													180.0
Work Detail				207 apprai	isal; meetino	g with FBC to	eam									
5/14/2021		90.00	135.00													135.0
Work Detail	Arlene Ka		over P207 a	ppraisal w	ith appraise	er; took lands	cape out s	ince that wi	ll be addres	sed separa	itely. 					
5/17/2021	1.500		135.00													135.0
Work Detail						to have land ands and doc			idscape is b	eing addre				), HOA and (	CLMA; P204	1: prepared a
5/18/2021	1.000	90.00	90.00													90.0
Work Detail				Perry; bar	nk is getting	ready issue	release; he	e needs dee	eds and any	other docu	ıments requ	uired by FB0	C; I sent full	set of deeds	, agreemen	t, Vender &
5/19/2021		1295 form. 90.00	90.00													90.0
Work Detail				od again	vith concorn	es about 10	05 and oth	ar forme Lu	ent through	n them with	him and as	id we can a	ccent one 1	205 for 200	21/1 & 216 4	
WOR DEIAII	presented	to FBC at	the same tin			es about 12			-					295 for 208-	_ 1 + 0x ∠ 10 ll	. a a.e
5/20/2021	3.500	90.00	315.00					<del>-</del>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>	<b>-</b>			315.0
Work Detail						addresses al				. f DOO 4				DA and CLM		erty owner
5/21/2021	2.000	90.00	180.00	OII. AISU W	e.ir over C		vi vviui Del	auia aliu li	"e comban	y 101 F 204						180.0
Work Detail	Arlene Ka	plan: Com	oleted all for	ms, receive	ed all appro	vals from FE	BC and sen	t to Jorge to	reach out	asap.						
5/24/2021		90.00	90.00													90.0
Work Detail			wed update	d title repo	orts and pre	pared partial	release wi	th title com	oany for 208	8-214 and 2	216; expect	to close all	in June			
5/26/2021		90.00	360.00													360.0
Work Detail				e reports fo	or 208-214 a	and 216. All i	n PR II nar	ne; remove	d director lo	ots, all encu	mbered by	Wells Farag	; discussed	d deeds and	partial releas	
	each or or		th title comp					.,			y					
Total Kaplan, Arlene:	24.500		2,205.00													2,205.0
FedEx																

Project	05	.00543	39.0000	F	FBC - Project# 17303 - SH 99					Invoice 032006			320063			
						Billing Pe	riod from	May 01, 20	21 to May	31, 2021						
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Invoiced To Date
FedEx																
AP Detail	Fed Ex S	Shipping														
Total FedEx:													38.81		38.81	38.81
Invoice Total	32.000	)	2,767.50			-							38.81		38.81	2,806.31

## FedEx

Original Customer Reference	POD Delivery Date	Recipient Name	Recipient Address Line 1	Recipient City	Shipper Name	Shipper City	Net Charge Amount
05.005439.0000 FBC - Project# 17303 - SH 99	20210518	Brenda Frey or Stephanie Stigant	407 Julie Rivers Dr.	SUGAR LAND	Arlene Kaplan	SPRING	\$18.92
05.005439.0000 FBC - Project# 17303 - SH 99	20210514	ATTN.: ARLENE KAPLAN	20010 CYPRESSWOOD SPGS	SPRING	Britten Harris	RICHMOND	\$19.89 \$38.81

Project# 17303 Prospect: SH 99
Client: Ft. Bend County
Description: FedEx
Amount: \$ 38.81